[image: ]
[image: ]

Нужно решить через подобие треугольников 
Пример решения
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PacyetHo-rpadmyeckad pabota "PacueT cTatmuecky HeoNnpeaeNMMbIX CTEPXHEBBIX
cncrem”

ABCONKOTHO XECTKUiA BPYC, 3arpy>keHHbIV BHELLHel Harpy3KoW, ON PaeTca Ha LWapHUPHO-HEMOABIXHYIO ONOPY U NOAAEPKMBAETCA ABYMA METaiNNYECKMU
CTepxHAMU. CTepxkeHb T uMeeT AMMHY [y 1 NaoLaAb NOMNEPeUHOro ceueHus As, a CTEPXeHb 2 — COOTBETCTBEHHO [ 1 Ap. CTEPXKHM U3rOTOB/EHBI U3
M1aCTUUHOTO MaTepuana, MoAeNb PaboTbl KOTOPOTo CleAyeT NosaraTb WAEaNbHOM YNPYronaacTYeCKoM. BeUmMHbI Harpy3oK, NpoAO/bHbIE pa3Mepb
3/1EMEHTOB KOHCTPYKLMM NpuBeAeHbl B Tabauue 1. TpuHATb, uTo MaTepuan 6pyca MMeeT MoAy b MPOAO/LHOM ynpyrocTv £ = 2,1+ 10° MMMa. Lns 3aaaHHoM
cxembl 6pyca (pucyHok 1) TpebyeTca onpeaentts Aedopmaun crepxkHeii Aly n Al.
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